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Instructions

· The time for the test is 1 hour.

· Answer all questions. 
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Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

1
A train travels 2  km in 1 minute. What is its average speed in km/h?
........................................ km/h
(2 marks)

2
Peter has a five-sided spinner. 


The spinner is biased. 


The probabilities that the spinner will land on 1 or 2 or 4 or 5 are given in the table. 

	Score
	1
	2
	3
	4
	5

	Probability
	0.3
	0.15
	
	0.25
	0.1


a
Work out the probability that the spinner will land on 3.
........................................

 (2 marks)

Peter spins the spinner 200 times. 

b
Work out an estimate for the number of times the spinner will land on 1. 

........................................

 (2 marks)

3
Find the integer x that satisfies both the inequalities.
4x + 3 > 15


4x – 2 < 2x + 8

........................................

 (4 marks)
4
Solve the quadratic equation x2 + 2x – 15 = 0

x = 


x = 

(2 marks)
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5
The diagram shows a solid prism made from wood. 

The mass of the prism is 51.2  g.

Calculate the density of the wood. 

Give your answer in g/cm3.

........................................ g/cm3
 (4 marks)
6
The probability that Simon passes his driving test is 0.6 


If Simon fails his driving test, he will resit the test again until he passes. 


Find the probability that he passes his driving test on his second attempt. 

........................................

 (2 marks)

7
Mark is going to play one game of chess and one game of scrabble. 


The probability he will win the chess game is 0.7 


The probability he will win the game of scrabble is 0.6
a
Complete the probability tree diagram. 
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(2 marks)
b
Work out the probability that Mark will win both games. 
........................................

 (2 marks)

8
Solve these simultaneous equations. 


2x + 3y = 9


3x + 2y = 16

x = 


y = 


(4 marks)

9
Zoe invests £4000 in an account for 5 years. 
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The account pays 4.5% compound interest for the first two years and then 3% compound 
interest for the remaining years. What will be the value of her investment after 5 years?

........................................

 (3 marks)
10
Paula asked 30 students what they ate for lunch. 

All the students had at least a sandwich, salad or fruit. 

5 students had a sandwich, salad and fruit.

7 students had a sandwich and fruit. 

9 students had a sandwich and salad. 

7 students had salad and fruit. 

14 students had a sandwich. 
7 students had fruit only.
a
Draw a Venn diagram to show this information.
(3 marks)

One person is chosen at random. 

b
Find the probability that they have a sandwich but not fruit. 

........................................

 (1 mark)
c
Given that the person has salad, find the probability that they have fruit. 

........................................

 (2 marks)
11
Factorise 6x2 + 5x – 6. 
........................................

 (2 marks)
12
a
Write an expression for the area of this triangle. 


........................................

(1 mark)
b
The area of the triangle is 22  cm2. 

What is the value of x? 
........................................

 (4 marks)

13
s is inversely proportional to t. 

When s = 8, t = 0.5
Find the value of s when t = 6 

........................................

 (3 marks)

14
A curve with equation y = x2 + 2x + 3 crosses a straight line with equation y = x + 9 in two places. 

Find the coordinates of the two points where the lines intersect. 

........................................

 (5 marks)
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